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1. 250 f(x=1) B S [-2,3], W fQRx=3) &3 N( )
A.[O,g]; B. [-5,5]: C.[-5,1]; D. [l,4%].

2. ¥ f(x)=arctan(tanx) , W )

A. f(x):x,xe(—g,gj ; B. f(x)=x,xeR;
C. f(x)zxz,xe(—%,%j; D. f(x)=x*,xeR
3. FHIMIRAAAERZ ¢ D

A limx—2' B. limarctan x ;
201 - Jl4sinx paron ’
o] 1

C. lim—; D. limsin—.
x—0 X x—0 X

4. THIRRAPIERRZ ¢ D

A. lim(1+l)x:e; B. lim(1+l)":e;
XxX—>+00 X x—0 X
L 1
C. lim(1+x)* =e; D. lim(1-—)" =e.
X—>0 X—>0 x
ksinx o
5. #HERH f(x)= x Ex=04aEg Mk=(C )
X +2,x=0
A 2 B. 1; C.0; D. 3.
6. WERE f(x)=x"(x—D(x=2), W f'(x) FEESMECHN] ]
A. 0; B. 1; C.2; D.3.
T2 y = x> +x Bt A (1L,2) IR )
1 27 1 9
A y=3x-1; B. y=—x+—; Cy=4x-2; D. y=——x+—.
4 SRR 4 YT,

8u f(x) 15 x = x, KBTI £(x) 7 x = x, AEHESEII( )
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A T4y HALBLA B. WEAEF I AT

C. mrdELE M,  D.BEAER S AR E %A
9. 45 fu) "IF, Hy=f() WHdy=(C )
A. f'(e")e"dx; B. f'(e")dx; C. [f(e)]de"; D. [f(e")]e'dx;
10, PR £ (o) 75 x, AIEBEAE f(x) 7E x, b0 S ()

A, WBEZAE, B, KM Co mESKM ; D, BEEER S AR ERAE
1. f"(x,) =0 2% f(x) METEAE x = x, 0B SIC )

A, BEARTE 7 AR B2 A, B. BRI kA

C. mEFA, D. oA EAT.
12, B2k y =x" —3x BI¥ AR ()

A.(-1,2); B. (0,0); C.(1,-2); D. (+/3,0).
13 f(x) BIFBRECN cosx, NI TFAEIFZ f(x) FIRREZ(C )

A. 2x—cosx; B. 2x+cosx; C. 2x-sinx; D. 2x+sinx.
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14y SERG [ fde ()
A, f(x) B B. f(x) Wy R 2L
CALEHHL D € H 4L
g 2, 21 2 N N
15. 4 S, :.L x*dx,S, :.[1 —dx, S, :.[1 e'dx, WS,S,,S, IRPNRERNC )
X
A. §5,<8,<8;; B.§, <8, <853
C.85;<8; <8 D. §,<8§, <,
16+ d(.[cosxdx) = l—

A. cosxdx; B. —sinxdx; C. sinxdx; D. —cosxdx.

17, BB [ Rl ) Pde =32, Wk =( )

A. 80; B.—80; C.40; D.—40.
18, gk y=x, B y=x-2% y BFEROBRITRAC )
) E; B.4; C.E; D.6.
3 3

19, FHITTRE, J&T —Mr&ma TR )
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A. y'+ysinx=e"; B. y'=x;

C. Y2 +xy=0; D. xy'+y>=0.
20. NHIRBURMA TR Y +2Y +y =012 )

A y=¢é; B. y=e'; C. y=te'; D. y=t".
. HEE (AkALE B, &0 10 5, £ 50 %)

l.lim(l— ! j
=0\ x e -1

2
2. lim(——— 5 %)

x>0 °gin” x X

3. e D) ey
' (x+3)(x+4)’ dx

4, I x* sin xdx

5. R TTHE (XY — 2xy)dx + xdy = 0 FIE

=, NHHB (28, &0 20 %, *40 %)

L B5E — NN 32 m ST R BAE I A5, AT AR 5 bt A R — Rk kL, R R
T 53— FopRL, CR0 R RTEAREETK 3 70, MITEADEFEET-K 1 T, %2 & BRI =
fer S h &AZA B, EIXAES TR R ?

2.BHIMIL= MKy’ =2x. x=0. y=1FrHmK, k-
(D, i =AM,

%300 ke

(2). M=% x Bl — J e e AR 1A AR,

W, {EHE (X244, &) #4415 4%, &£ 3045)

X

V1+x

1.4 x > 0K,

> In(1+x)

2 (D # f(0) @b b, 0 [ f(a+b-xdx=[ f(dx

(2) W J:x3f(x2)dx=%La2xf(x)dx
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